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'SUPPOsc R s ox\3 other point on m (other tan ma L)

“We need 10 dhow ot R0 T are coliness.

“Consider AXQR
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aAse
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Q= =PRANT  whae I=xXRaQ

*This gives AXXRS

© T preserve incidente  We need that QR intersecks £ ok +he soame point ot QRS
does, which happens b the (P,K\—DQ&&(‘S\!%' Thm, 7

2. Wwe're mo\ﬁng Po'mb around b3 o« in @ Wffj e presenves lines @S Sexs of points.

-A plane s (p. &) -fronsitve if for anz Xy calinear With P (and #P and E ) there 1
a (P, )-cendul Collinehion = S, \'= X*.

"50 on way 1o Suy whak We've done is thak o plane is (P, Q) -tronsifve i the
P, £) - Desargies' Thw holds,

(We'll cirele backe o bhe  algebro. coordinates of the plang ...
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T8V We defie + by b = T L)
§ by ab = Tla,b, 0)
s T xb)=(mex) ¥p ?
TE Tl =m-x b, then T is “linear™.
We'll ook (w bit) at Sitvakions iY\\IO\UiY\S (0,0), (0, (#0) & /or Ce0),[0,0],C0]
for which (P, ) - Desargues’ Thm = \mewi‘rﬁ.



